3= EfHZ 20 200 ==0| == TEHT HERSLICE.

ONEUP =21 -

OHIIE E11 AJHA




3 2|ojjoE|E 22l ECOAHEIR

2oy EEt O,

F Olsli2t

-
(@)
|

K|} El=01| CH







HIE

09.l

BRI CHH|

E7H(R)

80,000

H|D

HAZEZ=IHHIE

AlA[EE157H 2

bAl

170 & 1,000 F=7

f

okl

11H|

rk

Lid
EER=Es

EERIT g

OHIIE &

ES T

OItE 574

X1} A|

CH2f 30,000 ~110,000@

10,000&

ol

OHItEE &0

s

N

lél'

=
e

IEs

.I

=2
S}

t.

Q) OHIE AIA|ZH AX O|A| (AIA|ZH 202 0|2/ EE)

SIS OHILE 7|2 2270 AR (125 AIA 71, AIAR & 17H 5:4)

2A2t 22 4A|2H 22
ol17iH| 24,0002 48,0008 OFZHI0|E AIZHE 12,0008 AF
CH| 80,0002 80,0008 AA TS, 22T, B, S|
AR 27} | 70008 7000% 1570 24 Al 1742 1,0008 %7}
%39 11,0008 135,000 VAT =
* 2Ha|Al Eh TS OFILE'S X{OI7} U2 4 9/0f 0],
M 7R 1 T | 2 A H01 I .




uzol =0

ﬂ«k

$E1L FHMIS

152

2H

HI

Q) oneup 2zztel ZEOH|

2HIE

ofl
o
oK

e

N

o0

ke

<+

ofl

o

S

O’

o

S

O’

0

=3

=
m B
Wy 2
o =
_n.VD Q_..._ ._.M 1 1
Mool
Kk T 1o
LI | R

orl

B0
= = ¥ X K
© o & o o
S &6 &5 & &
S & & o o
Te) ™ — ™ <

* VAT B

11,000,000¥

S+X|2 & THX|

* VAT B



Igol 20|

ﬂﬂ'

15 S5 $5 1Y 2RI

EH
=1

@ oneup ©fel ZENRAIE 24 o : A-DEH

2HE

oFd
)
oK

]

Nd

o0

ik

<+

15,0007H

3,0007H

16,000,000¥

S+X|0} A IHX]

1,0007H

MOUX|Z

5,0007H

4,000%

*VAT 2

5,500,000

X[2t &= THA| or HE

*VAT 2



o = |
T£I°;||_E lodlo Ig |—

oneupcreaqative



	01
	02
	03
	04
	05

